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SN ALSI S X
M Lol=N ZA(AB=X /0l HAd)
Sel BEE 29 CERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
A3l = X 2t 116,897,599 101,818,538 15,079,061
= 77,296,203
J| 99,673
= 8,736,755
Al 30,764,968
LoEX BT(AIEX/ Q- FAH) 91,874,418 79,553,641 12,320,777
= 64,808,762
J| 17,523
< 6,079,518
Al 20,968,615
SHEE 24 193,411 230,486 A 37,075
SEE 2l 193,411 230,486 A 37,075
101 @124l 21,991 21,376 615
04 J12ZtHZ22 s+ 21,991 21,376 615
Ozt ael ExeR 21,991
— St BT
68,720& * 1H 208 * 123 16,493
—StEEFH FHl UARY
68,720& * 4F * 5 * 43 5,498
201 2Bt | 170,370 168,060 2,310
01 At 22l 5,800 5,600 200
OstEd 2l 5,800
— & 2#eEF ¢ 50,000& = 20& 1,000
—SIEE YAFNE 22X iz
4,800,000& = 14 4,800
02 =224l 160,570 158,460 2,110
O&Z HMIIANEZ 1,000,000& * 12& 12,000
Ostdd dNFAFH MEE
200,000& = 12& 2,400
Ostad AsxX2eldl (468 =1k, 145.4m")
5,000,000& * 1= 5,000
Ozta & Fdls Al 2,500,000& = 27| 5,000
Ot FH2ACIAL HEH(Be], H2) RF|U(S
=) 9603 = 2,5004 =« 53 12,000
OSEE &2 RRFU(ER)
1,350& = 654 = 1,400+ 122,850
OMIIE=E 94| 500,000& * 24l 1,000
O&3x At 120,000& * 14! 120
O&3 LPG HASEH 50,000& * 43 200
03 A2 Z Hl 4,000 4,000 0
OXdAIEst IS =0IHHS
2,000,000& = 23| 4,000
206 M= Hl 1,050 1,050 0
01 W2l 1,050 1,050 0




SN ALSI S X
Y Lo=2X SH(AEEX/ L0 - FHad)
&?: SHEE 23 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OstEE 23 YT 15,000& = 5& = 6K 450
OSt&EE S2J1, S €E
50,000& * 1204 600
Lo=x & 77,162,938 67,215,443 9,947,495
= 63,909, 100
J| 17,523
< 2,725,693
Al 10,510,622
Lol=XEd 1,329,520 1,273,220 56,300
201 Lt 10,920 12,120 A1,200
01 At 22l 10,920 12,120 A1,200
Ookoazadsdd g
403 * 21,0000 = 123 10,080
ORI EsSXAY A3 32
S 70,000& = 4% « 33| 840
301 LEEXZ 1,134,000 1,080,000 54,000
01 MEI2EZE 406z 1,134,000 1,080,000 54,000
Ookolazdsdd K&
5,000& » 21,000F » 128 * 90% 1,134,000
307 glz2tol & 184,600 181,100 3,500
02 It MAHE X 145,000 142,500 2,500
Ookolod I8 S8s A X
5,000& = 29,0004 145,000
04 QIZFHALALH 2 = 36,000 35,000 1,000
O0BOIE D18 &AL 8,000,000& * 242 16,000
Ozld JIEdEA 10,000,000& * 13l 10,000
Okelod I8 el 2R
10,000,000& * 13l 10,000
11T M SRAIS EX 3,600 3,600 0
ORog-el Maa xted Eeld|
30,000& = 1209H 3,600
LM ESEHXIZ 24,500 23,600 900
301 82X = 4,500 3,600 900
09 HALAHIX A S 4,500 3,600 900
Okole & JI3dA EANH|
90,000& = 10 » 1« 900
OLeXNEXN nEEFA N
90,000& = 10 » 1 900
OLQ=X2E DSEA 0t
90,000& = 10 » 1 900
Okol AZ=H It
90,0003 * 209 » 1« 1,800
307 21201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
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ST (MSER /=0 - BAH)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ookeloyd J1g Lolisds=0al
20,000,000 = 13| 20,000
LOSEX A& A 30,000 0 30,000
307 2Iz2t0| & 30,000 0 30,000
11 A EXAIEEX 30,000 0 30,000
OLQol A(t) oAl I WE
3,250,000& = 43| 13,000
OFSANZE W LodEye =4
17,000,000& = 1JH 2 17,000
SESNEIAR2YE 72,161 92,917 N 20,756
101 e1214| 7,561 24,717 N 17,156
04 JI2tHI22NHEE S 7,561 24,717 N 17,156
Os=SdEH 22| 22
68,720 * 1Y % 262 * 3 5,361
OMZEXY o=
68,720 x 43 x 22 x 43| 2,200
201 et d| 64,600 68,200 A 3,600
02 2224 64,600 64,600 0]
O&Ie2 1,500,000 * 12& 18,000
Q&= AME22 200,000 ~ 12€ 2,400
O3, &2 = 6,000,000& = 13 6,000
Ottgtd 24| 1,500,000 = 5&€ 7,500
O2LLaXHelAd A2 824
500,000 = 12€ 6,000
OsdIJIK X 250,000&  12& 3,000
ORoAHHIAIAE ME2 250,000 = 128 3,000
OdI|, Aot d 22| 600,000& * 12& 7,200
OASEE HLUAAMN =82
2,500,000& = 13 2,500
OANEE 29 250,000& ~ 12€ 3,000
OJIEFAIAE & Hl £ XlH] 500,000 = 12& 6,000
(2)=e12 X3 65,005,401 58,165, 120 6,840,281
=2 58,504,861
= 1,300,108
Al 5,200,432
301 dEtE ™M= 65,005,401 58,165, 120 6,840,281
= 58,504,861
& 1,300,108
Al 5,200,432
01 M EXE 4562 65,005,401 58,165, 120 6,840,281
OJI=¢HZ XI&(20,582¥)
65,005,401,000& * 14 65,005,401
= 58,504,861
= 1,300,108
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|

()Xl L ABZSIY o) 7.146,858 5,122,937 2,023,921
3,573,429
1,072,029
2,501,400

= W

101 1Al 738,107 557,298 180,809
369,054
110,716
258,337

= W

2= 738,107 557,298 180,809
XN (dge=ed or2idl) 25,307

— Q12| 1,850,000& = 1& « 13 24,050
12,025
3,608
8,417
— MM 1,257,000& = 13 1,257
629

188
440

= M W

= MW

70,000 = 240 * 112 712,800
356,400
106,920
249,480

=z N W

206 M= Hl 43,200 30,800 12,400
21,600
,480
15,120

= N}
o

01 M= Hl 43,200 30,800 12,400
OLoA 2SN (SUESHOEA 2UH2H)
180,000& =+ 240 43,200

21,600
,480
15,120

= N H
o

307 glztol & 6,365,551 4,534,839 1,830,712
3,182,775

954,833
2,227,943

= n

05 QItRIE 2 6,365,551 4,534,839 1,830,712
ol xtel & AtSIESXJAA (200 1,719
6,365,551,000& * 14 6,365,551

3,182,775
954,833
2,227,943

=z N W
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i
e
>
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]
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=
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305,000 280,000 25,000

< 31,500
Al 273,500

307 glztol & 305,000 280,000 25,000




SN ALSI S X
Y Lo=2X SH(AEEX/ L0 - FHad)
ool Lo=X FX (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 31,500
Al 273,500
05 RIZHRI &3 305,000 280,000 25,000
OQI2bEZ0F ol Rel At JHeEdl XI&
5,000,000& = 14l 5,000
< 1,500
Al 3,500
OAlLZE=29g 300,000,000& * 1JH A 300,000
< 30,000
Al 270,000
(F)dXESsS AL 2,615,460 0 2,615,460
= 1,830,810
< 235,400
Al 549,250
307 21201 A 2,615,460 0 2,615,460
= 1,830,810
= 235,400
Al 549,250
11T A SRAEE = 2,615,460 0 2,615,460
OLoESSAMUIA ALY XI&(2,288H)
2,615,460,000& * 14 2,615,460
= 1,830,810
= 235,400
Al 549,250
(F)sSH=sHMSSAHHM LU A 2SI 35,046 34,551 495
| 17,523
= 5,257
Al 12,266
307 21201 A 35,046 34,551 495
| 17,523
< 5,257
Al 12,266
05 RIZtel &t 3 35,046 34,551 495
OS¢t AE A 2R
35,046,000 * 10024 35,046
J| 17,523
< 5,257
Al 12,266
(D)RAS A HASEHE LR 2] 109,200 89,711 19,489
< 10,920
Al 98,280
307 21201 A 109,200 89,711 19,489
< 10,920
Al 98,280
1A S XA E X 109,200 89,711 19,489
OREtol AAS2Y UL ot 2D
6,500& * 1,4008 = 123 109,200
< 10,920




A AMIEX
M Lol=N| SA(ABEX /=0 - HA)
e Lo=2X 54 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
| Al 98,280
(E)ZBEAG LRSS AMY 280,800 179,922 100,878
= 28,080
Al 252,720
307 2Iz2to| & 280,800 179,922 100,878
= 28,080
Al 252,720
11T AISIEXAIEEX 280,800 179,922 100,878
OZ2RAY LEIA(3N2 450%)
280,800,000& = 14 280,800
= 28,080
Al 252,720
(E)HSEHMASTHIE QA AN 141,992 97,455 44,537
= 14,199
Al 127,793
307 2Iz2t0| A 141,992 97,455 44 /537
= 14,199
Al 127,793
11 A EXAIEEX 141,992 97,455 44 537
OHSE2EH HASTIIE=Q AAEBIE (3IHA 130
) 141,992,000 * 14! 141,992
= 14,199
Al 127,793
(E)eolpnal=2dy 32,000 24,000 8,000
o= 7,200
Al 24,800
307 212t0| ™ 32,000 24,000 8,000
= 7,200
Al 24,800
11 A EXAIEEX 32,000 24,000 8,000
OLolnas 29 4,000,000& = 8JH A 32,000
& 7,200
Al 24,800
(E)rol=2sst=X4 13,000 6,000 7,000
& 3,900
Al 9,100
307 2iz2to| A 13,000 6,000 7,000
& 3,900
Al 9,100
11T AISIEXAIEEX 13,000 6,000 7,000
oyoYo=2d =2y 7,000,000 * 1J0HA 7,000
o= 2,100
Al 4,900
oYV oS E &2 43X & 3,000,000& » 2JH A 6,000
& 1,800
Al 4,200




o =

3= X
=X ST (MII=X /0 - Had)
ol=x =X

= S

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
(S)AH I EAIH2Y 7,000 5,600 1,400
== 2,100
Al 4,900
307 2Iz2t0| A 7,000 5,600 1,400
o= 2,100
Al 4,900
11 A EXAIEEX 7,000 5,600 1,400
OAHXKIEANE 2 7,000,000& * 1JHA 7,000
& 2,100
Al 4,900
CHIAMIES0ISCtE DAY 15,000 0 15,000
& 15,000
402 SI2F X201 & 15,000 0 15,000
& 15,000
02 BIZtXIEANYEX(0IETHS) 15,000 0 15,000
OHEHMNEMN SE2 HE FRAY
15,000,000& = {14l 15,000
& 15,000
e 2AAMY 4,670,481 3,610,445 1,060,036
= 198,056
& 856,020
Al 3,616,405
dzE 24 1,695,591 1,888,999 A 193,408
201 Bt 4d9H]| 25,550 24,500 1,050
02 2224 4| 25,550 24,500 1,050
OZ=2E HI|otd A
70,000 * 36504 * 13 25,550
301 et A= 298,250 275,500 22,750
01 AR E & A 462 298,250 275,500 22,750
Odz4d gsizd X
250,000& * 365 A 91,250
OANMX 2 & 23HE2Y 29|
200,000& = 200 = 43 16,000
O3z 234l N 1,000,000€ * 1000H & 100,000
OZE HZFoY 2|
400,000& * 1404 + 12€ 67,200
OES HFoE Yitety|
200,000& * 1404 ~ 68 16,800
O dzd =2 2dl NS
350,000 = 2004 7,000
307 2izto| & 234,291 201,499 32,792
02 QIZ2IA AAIE E X 46,260 30,912 15,348
OLONSPSERIA(ZEE BH)
5,0008 * 2608 ~ 12€ 15,600
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONSderscAa (25 J%)
3,500 = 36552 * 28 x 12& 30,660
10 AL SXAIEEE2EH EX 125,031 107,587 17,444
OZeY =3 Z2 08 22X AAHE(EZE
Ho) 45,031
— QI 2,702,900& * 1¥ » 123 32,435
— AM3EE 32,434,800& * 9.4% 3,049
— &3H| 300,000& = 1¥ = 12& 3,600
— S ARE= 2,702,900& * 1H « 13 2,703
= -E P[]
2,702,900& = 60% » 1H * 23] 3,244
OUSC- QIS EFAIXE 2H(EXE8 HH)
80,000,000& * 14 80,000
11T AS S RAEE = 63,000 63,000 0
Oogdzd Zz)d A 400,000 * 7504 A& 30,000
OZ2g & A= u=sXA
100,000& = 110¥ * 33 33,000
402 RIZEXHE0 A 1,137,500 437,500 700,000
01 U2 EALE X (XM ) 1,137,500 437,500 700,000
Od2g B 5,000,000& = 80H 2 400,000
OZ2% =4 20,000,000& * 50 2 100,000
OZzg M= 200,000,000& * 30 & 600,000
O3 HZoH ANEBS
10,000,000& * 30 & 30,000
OBS HFAY 2EX
2,500,000 * 30H A 7,500
(2)Z2Ldte Y 2HI X 792,226 764,521 27,705
= 198,056
< 178,251
Al 415,919
301 LA F 792,226 0 792,226
=2 198,056
< 178,251
Al 415,919
01 AR 2Z A5 3 792,226 0 792,226
OZzgdtery Y2 =Hl X
792,226,000 * 14l 792,226
= 198,056
< 178,251
Al 415,919
(2)Z2g XA 907,200 891,600 15,600
< 119,730
Al 787,470
301 LEtEBA S 907,200 891,600 15,600
= 119,730
Al 787,470
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H: LOoIEX ST (AMaEX /0 -HAH)
Sl ERY SYMY (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al E & A 452 907,200 891,600 15,600
OZzy 29X 617,100,008 * 14! 617,100
< 61,710
Al 555,390
OZzd E¥AHZH| 290, 100,000& = 14 290, 100
& 58,020
Al 232,080
(E)ER2Y H=2C-220| KA 376,714 0 376,714
== 113,014
Al 263,700
307 2Iz2t0| & 376,714 0 376,714
= 113,014
Al 263,700
11 A EXAIEEX 376,714 0 376,714
OXeY #=c20 X
376,714,000 = 14 376,714
= 113,014
Al 263,700
(E)HE2Y ) s82AY 880,000 20,000 860,000
= 440,000
Al 440,000
402 SI2vXH=20| ™ 880,000 20,000 860,000
o 440,000
Al 440,000
02 CIZEXIEAIS E X (0| XM THL) 880,000 20,000 860,000
OHRYE JlsEd 220,000,000 = 404 A 880,000
&< 440,000
Al 440,000
(E)SAHCABSHFAYAMY 6,000 12,000 6,000
< 1,200
Al 4,800
301 et A = 6,000 12,000 A 6,000
& 1,200
Al 4,800
01 Al B & A 462 6,000 12,000 A 6,000
OBsHFE 29|
400,000 = 1A + 12€ 4,800
& 960
Al 3,840
OZSHF2E YWitety|
200,000& * 10HA = 6 1,200
= 240
Al 960
(EVANZE2YXNENDEXA 12,750 8,200 4,550
& 3,825
Al 8,925
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301 LEHZ 12,750 8,200 4,550
< 3,825
Al 8,925
09 HALAHIX RS 12,750 8,200 4,550
OANZ 324 XX s XN
150,000& * 859 12,750
< 3,825
Al 8,925
M2 =XAE X& 9,847,588 8,497,267 1,350,321
= 701,606
< 2,497,805
Al 6,648,177
MIISXAE XA 1,071,590 978,560 93,030
301 LeEBAF 40,590 37,500 3,090
01 Mel28HE 6= 40,590 37,500 3,090
OYE L o ABISTAE HEX A2
11,000& = 1,230% * 33 40,590
307 21201 A 1,031,000 941,060 89,940
05 BIZHRIE 3 950,000 890,000 60,000
OLYZE=X2 2FX
950,000,000& * 1JH A 950,000
11T AL SXALEE = 81,000 51,060 29,940
OSHLo & A E5Hl X3 (LSHl, sS4l
g) 50,000& = 1359% = 123 81,000
()= =SXAE JIsELAY 346,392 0 346,392
= 165,696
= 165,696
Al 15,000
401 AIEHI L 201 154,308 0 154,308
= 69,654
< 69,654
Al 15,000
01 A& Bl 154,308 0 154,308
OFZANYLRH DI4E HRS2BA
154,308,000& * 14 154,308
= 69,654
< 69,654
Al 15,000
402 RI2FXt20l 192,084 0 192,084
= 96,042
= 96,042
02 It 2 AL EZ (OIS ) 192,084 0 192,084
OQIHIIE=0IE HE=>= SA
127,010,000& * 14 127,010
= 63,505
< 63,505
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73

730,451
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765,586,000& = 1JH A

= N H
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18,000
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18,000
162,000
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I 200 EX&(259)
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S ASI=S XD
M Lo=N ZX (NS /L0l - HAU)
Sol: ASIZXAIA X8
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 175,200
Al 408,800
OLQ=XIAIE SALX S (481Y)
595,440,000& * 14 595,440
< 178,632
Al 416,808
OFILI& SHHISK 2 (475¢)
6,304,580,000& * 14 6,304,580
< 1,891,374
Al 4,413,206
ool SXNST(MISX/FLAHSKH) 24,881,324 22,074,011 2,807,313
= 12,487,441
| 82,150
< 2,657,237
Al 9,654,496
Zojel =Xsd 24,881,324 22,074,011 2,807,313
= 12,487,441
| 82,150
< 2,657,237
Al 9,654,496
SOl SXIAL K& 253,358 272,988 A 19,630
201 £B-2dH| 63,358 49,988 13,370
01 At 22l 63,358 49,988 13,370
OFMARSHERN 72
1,000& = 11& = 10004 1,100
OFMHAEEF=INTY EEE HE
1,048,000& * 14 1,048
OFMHESKNE == AHIHAAJ A =
70,0003 = 6H « 123l 5,040
OFMHAH AtRA LXz XA
435,000& * 1238 * 6o 31,320
OFMHAEHAANLAARAJ X AMBANRE =
g 70,0003 = 3H =« 203l 4,200
OMEIEX R3A &I M= 70,0002 = 35 2,450
og=x=dI| - FUAESHH Xz X3
850,000&  12& 10,200
OMBISTIAL HFHY 248
200,000& * 4004 2 8,000
301 LBEAZ 6,000 0 6,000
01 MEIBZE 06z 6,000 0 6,000
OW&Ze EMRAS KA 6,000
— 0 2O st A0
1,500,000 * 29 3,000
— &0 EE0F MotAl @22 HdEoel
1,000,000& * 39 3,000
307 21201 A 184,000 223,000 239,000
10 ALSISXAIEEE2FHEX 149,000 0 149,000




AN ALEI =X
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Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZZMe OlsAY XA
43,000,000 » 1042 43,000
OZMA=EXZ 2EAMEY X
72,000,000 » 10H A 72,000
OUEHOM XtEOISMY X
34,000,000& * 1JH A 34,000
11T M Z2XASEEX 35,000 223,000 A 188,000
OAZZOHCl THE MBIA ALY
7,000,000 = 10H 2 7,000
O+0SAHE 20{DA 29
8,000,000& * 10H 4 8,000
OFMe HY Jlz=u=s XA
1,000,000& * 209 20,000
O nEX 5,760 5,760 0
301 LEMZ 5,760 5,760 0
09 SALAHIX A S 5,760 5,760 0
OZOguws A OHl X 5,760
—HMHAXNEX s A Ol
90,000& 329 2,880
—dojesEN2e s F4 ol
90,000&  329H 2,880
ZOH QI AR 76,240 69,980 6,260
301 LEXZ 12,240 10,980 1,260
09 HALAHIX A S 12,240 10,980 1,260
OZOHQUSHA HA OHl XA 12,240
— FojeIol 2 A B Ol
90,000& * 324 2,880
— =03 A 0
90,000& * 324 2,880
— S MHEBSEUHE A Ol
90,000& * 324 2,880
—ZOHASHYR H2E A Oyl
90,000& * 404 3,600
307 21201 A 64,000 59,000 5,000
11T MISRASEX 64,000 59,000 5,000
OFM2 & JEHA 15,000,000& * 14 15,000
OZFAl O SotSH=sH
17,000,000& * 14 17,000
OAZZHR FIDNIE AAMIMLAY
3,000,000& = 14 3,000
OXNMZEOHNHAMNS  8,000,000& * 14 8,000
OZFAl Z0Hel A3t ALY 21,000
—AZEOHR FF23s At
4,000,000& = 14 4,000
—EXEIS & HA 4,000,000 * 14l 4,000
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— NELLHOHR Il =ZUsE
5,000,000& = 14 5,000
— =0t FZ2s AFY 4,000,000 * 14 4,000
— AT SXUHe L A2 AHOILE
4,000,000 = 14! 4,000
ZOHAIIsSBIIUHS XA 2,880 2,880 0
301 LEXS 2,880 2,880 0
09 HALAMHIXI &3 2,880 2,880 0
OFMeIIsZIItHal &I Kbl X &
90,000& = 32¢ 2,880
ZOHQUEH JIsES 13,500 0 13,500
401 Al HIZ 201 I 10,000 0 10,000
01 A& HI 10,000 0 10,000
OXMEBOMHAEIIASA SE WM SA
10,000,000& * 14 10,000
402 BIZHXHE 0| A 3,500 0 3,500
01 2I2F 2 A B (KR 3,500 0 3,500
OAMLAZOHAHAESIAIS A HEHED] WX
3,500,000& = 14 3,500
M2 SXAL MM A 67,200 84,000 A 16,800
301 LA F 67,200 84,000 A 16,800
01 MI2ZHE +06l= 67,200 84,000 A 16,800
OFMA=RAIE & X MIAZ2XNSAX =
140,000& » 409% » 123 67,200
()ELHAI S HAS 4,488,401 4,318,160 170,241
= 3,141,881
< 403,956
Al 942,564
301 LA F 4,488,401 4,318,160 170,241
= 3,141,881
= 403,956
Al 942,564
01 Ml28E 6= 4,488,401 4,318,160 170,241
QX =z X2 (1,509Y)
4,488,401,000& = 14 4,488,401
= 3,141,881
< 403,956
Al 942,564
(B2 (Ix) X= 403,852 448,313 AN44 461
= 282,696
= 36,347
Al 84,809
301 LeHEBAF 403,852 448,313 A 44 461
= 282,696




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

ool Zojol =XNSA (sl &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 36,347
Al 84,809
01 Al B & A 462 403,852 448,313 N44 461
OZMLE (=) XA (903H)
403,852,000 = 14! 403,852
= 282,696
& 36,347
Al 84,809
(Z2)H (M S) X2 372,427 317,087 55,340
= 260,699
& 33,518
Al 78,210
301 et A =2 372,427 317,087 55,340
= 260,699
& 33,518
Al 78,210
01 Al E & A 462 372,427 317,087 55,340
OXNMHLEE(XHAR) KR (628%)
372,427,000 = 14 372,427
= 260,699
& 33,518
Al 78,210
(Z)X0HS2H X 188,296 211,959 N 23,663
= 150,637
& 11,298
Al 26,361
308 XX EHSOIA 188,296 211,959 N 23,663
= 150,637
& 11,298
Al 26,361
10 2|2 SUHUSHE A X AE AT Y| 188,296 211,959 N 23,663
OZoRel o 2H| X (270H)
188,296,000 * 14! 188,296
= 150,637
& 11,298
Al 26,361
(Z)XH LRl NS (2R XRE]) 301,020 263,354 37,666
= 150,510
& 45,153
Al 105,357
307 2iz2to| A 301,020 263,354 37,666
= 150,510
&< 45,153
Al 105,357
05 QIZ2tREF 2 301,020 263,354 37,666
OFI=2X LRl AtS
501,700& = 508 * 12& 301,020
= 150,510




2N
DM SNBSS (MESI/HAAHSKIH)

el

X ZH
S =

Akl = X1 ot

i =S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 45,153
Al 105,357
(Z)EONQ LRl X (Lersd dRtiel) 459,040 446,204 12,836
= 229,520
< 68,856
Al 160,664
101 @14 Hl 459,040 446,204 12,836
= 229,520
< 68,856
Al 160,664
04 JIZHHZ2XREES 459,040 446,204 12,836
OFofelueradXtel At (18Y)
459,040,000& * 14 459,040
= 229,520
= 68,856
Al 160,664
(Z)EONQI L Rtel X2 (AlI2FR L Xtel) 76,548 74,407 2,141
= 38,274
< 11,482
Al 26,792
101 14 Hl 76,548 74,407 2,141
= 38,274
< 11,482
Al 26,792
04 JIZHHZ2XREES 76,548 74,407 2,141
OXFOH L& (AIZHH) LAl At (6Y)
76,548,000& = 14 76,548
= 38,274
= 11,482
Al 26,792
(L ESXNIASHX A 4,768,319 3,230,443 1,537,876
= 3,337,823
< 429,149
Al 1,001,347
307 gl2tol & 4,768,319 3,230,443 1,537,876
= 3,337,823
< 429,149
Al 1,001,347
05 BIZHRI & 3 4,768,319 3,230,443 1,537,876
QX 2=sXN2S0H (B H)(229€)
4,768,319,000& = 14 4,768,319
= 3,337,823
< 429,149
Al 1,001,347
(ZESEX I =0 5,714 4,825 889
= 4,000
= 514
Al 1,200




SA: ABIS XD
I FOHQ SEXNST (A= /FHLAHSKA)
el oo SXNEE (==

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

307 21201 & 5,714 4,825 889
4,000

514
1,200

= N H

o
o
a
S
0
oy

5,714 4,825 889

© m

O
02
2

111
o

ERIIMSO0(HS A ) (49)
5,714,000& * 14l 5,714

4,000
514
1,200

= M W

(LEMEMHIAHIRH™ X 260,800 274,320 213,520
182,560
23,472
54,768

= W

307 21201 & 260,800 274,320 A13,520
182,560
23,472
54,768

= W

05 22t & =3 260,800 274,320 213,520
OLEMaEMEIA(HIRH)(121Y)
260,800,000& = 14 260,800

182,560
23,472
54,768

= 0 H

JIITX& 2,841 2,843 A2
2,273
170
398

M
o
2
e
I
P

= N H

301 etE2H S 2,841 2,843 A2
2,273
170
398

= M W

01 A28 H =06l= 2,841 2,843 A2
OFoe ExJ1J] XA 189,400 * 15 2,841
2,273

170
398

=z N W

()LLEHMAFLHESHUIATR 422,928 56,396 366,532
296,049
38,064
88,815

= M W

307 21201 A 422,928 56,396 366,532
296,049
38,064
88,815

= M W

05 QIZt2IE =3 422,928 56,396 366,532

OLYTOY F2ESAHIAKIR(30Y)
422,928,008 * 14 422,928




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA (sl &2)
SN EB S (3H) - NBAY - B2 ol &k o8 ﬁlf& HD=2
= 296,049
== 38,064
Al 88,815
(2)ggdzojelgtssSAHH AR 246,122 34,180 211,942
= 172,285
= 22,151
Al 51,686
307 QI2t0| & 246,122 34,180 211,942
= 172,285
= 22,151
Al 51,686
05 QIZtR &2 246,122 34,180 211,942
OBAUS LI ONS YL IS S AU AKX R (35
o) 246,122,000 = 14 246,122
= 172,285
= 22,151
Al 51,686
(2B AANE 29 3,600 3,600 0
= 1,800
== 540
Al 1,260
301 et ™M= 3,600 3,600 0
= 1,800
= 540
Al 1,260
01 AR E & A 452 3,600 3,600 0
OZMHNEZAAMME 2 (ZOHESH L 2 A
INEED) 36,000& * 100 3,600
= 1,800
== 540
Al 1,260
(2)H L H0HQ SAHI X 4,000 5,140 A1,140
= 2,800
= 360
Al 840
301 LBt A= 4,000 5,140 A 1,140
= 2,800
= 360
Al 840
01 Al E & A 452 4,000 5,140 AN 1,140
OHd &R SAHIES K&
1,000,000& = 49H 4,000
= 2,800
= 360
Al 840
(Z2)HHAZATHEAIE JIsEL 24,920 15,400 9,520
= 12,460
= 3,738




SH: AS =X D
o DO ZXNSH(MISN/HLHESTER)
ool Zojel 2XNEH (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 8,722

402 212t Xt=01 & 24,920 15,400 9,520
12,460
3,738
8,722

= N W

02 QA 2AMAEE(0IATHE) 24,920 15,400 9,520
OFMMAMNATHEANL JIsE22(0E)
24,920,000& * 1004 24,920

12,460

3,738
8,722

= Hn W

W
0z
[Ea
fo
02
>
iz
Mo
02
pal
{0

, 797,591 1,829,786 N 32,195
,258,314
161,783
377,494

= M W

307 21201 & 1,797,591 1,829,786 A 32,195
,258,314
161,783
377,494

= M W

10 AR SAAEHE2SHIEXR 1,797,591 1,829,786 A 32,195
OBAUQAALE 29 1,797,591,000& » 10K 1,797,591
1,258,314

161,783
377,494

= N W

(DVBHLANFAIE 28 X 4,229,474 3,448,858 780,616
2,960,633
380,652
888, 189

=z o W

307 glztol & 4,229,474 3,448,858 780,616
2,960,633
380,652
888, 189

= MW

10 I SXAEHE =2

g
OFM HF=AE 2

=

22X 4,229,474 3,448,858 780,616

0

1,057,368,500& * 400 A 4,229,474
2,960,633
380,652
888, 189

= HnH

(DVZHAANFAIE BOFHIIHERR 3,712 0 3,712
2,227

445
1,040

=z N H

307 glztol & 3,712 0 3,712
2,227

445
1,040

= N H

1A SXAIE E = 3,712 0 3,712




AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZWAAZAE 2ol 8dodgna
1,856,000 * 20 3,712
= 2,227
= 445
Al 1,040
(C)ESZZMH XX RLAHSEALS 205,750 197,050 8,700
& 41,150
Al 164,600
307 2Iz2t0| & 205,750 197,050 8,700
= 41,150
Al 164,600
05 QIZ2tREF 2 205,750 197,050 8,700
OBZZ0HY NYNAME 29
205,750,000 = 1JH 2~ 205,750
&< 41,150
Al 164,600
(S)AIBIEXNAIESAIASS 48,720 74,000 N 25,280
= 14,616
Al 34,104
301 LBt X = 48,720 74,000 N 25,280
= 14,616
Al 34,104
01 AISIE & A 452 48,720 74,000 N 25,280
OABIEXAE SAX =S (HAQAAA)
140,000 = 29 x 12& 48,720
= 14,616
Al 34,104
()T OHQIEXIAIE SAILY ¢ 315,120 283,920 31,200
o= 94,541
Al 220,579
301 et M= 315,120 283,920 31,200
o= 94,541
Al 220,579
01 AISIE& A %52 315,120 283,920 31,200
OXEMHAZXAIE SAX = (191H)
315,120,000 = 14 315,120
= 94,541
Al 220,579
(S)ZOHCITHIIEXSAMEH2IG XA 116,000 104,000 12,000
o 20,000
Al 96,000
307 212t0| ™ 116,000 104,000 12,000
= 20,000
Al 96,000
10 AISIEXAIEEHE2IHIEX 116,000 104,000 12,000
OXOMRMII2 R SAHEH 29
116,000,000 = 1JH A 116,000
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AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)

Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 20,000
Al 96,000
(Z)EUM=2AESANLE2H 327,056 318,362 8,694
< 61,918
Al 265,138
307 glz2tol & 327,056 318,362 8,694
< 61,918
Al 265,138
10 AL SXAIEEE2EH EX 327,056 318,362 8,694
OFMHA=UAEBSAE 29
163,528,000& * 200 & 327,056
< 61,918
Al 265,138
() THMH AKX X=X AS 182,557 0 182,557
J| 82,150
Al 100,407
401 AIEHI L 2CHEI 182,557 0 182,557
J| 82,150
Al 100,407
01 A& Hl 182,557 0 182,557
O/MTHEM U X XX AL (HOHASE =K 2
EHSZUMAE &EX) 182,557,000& * 14 182,557
J| 82,150
Al 100,407
(DINZEHAESESAN22SE 1,260,000 1,150,000 110,000
< 18,571
Al 1,241,429
307 21201 A 1,260,000 1,150,000 110,000
< 18,571
Al 1,241,429
05 BIZERI & 3 1,260,000 1,150,000 110,000
OAlZ Zfelsg=Na 29
1,260,000,000& * 1JH 2 1,260,000
< 18,571
Al 1,241,429
(Z)HOHMEOSANAMEH2 I 172,253 195,000 N2, 747
= 34,451
Al 137,802
307 21201 A 172,253 195,000 AN22,747
= 34,451
Al 137,802
10 M2 SXNANEHES2IHEX 172,253 195,000 N22,7T47
OZMMEoSXNHHH 29
172,253,000& * 1JH 2 172,253
< 34,451
Al 137,802
(Z)=stsduEe2g 210,468 185,000 25,468




2N
DM SNBSS (MESI/HAAHSKIH)

el

X ZH
S =

Akl = X1 ot

i =S

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 35,780
Al 174,688
307 glz2tol & 210,468 185,000 25,468
< 35,780
Al 174,688
10 M SXNANEHI2IHE=X 210,468 185,000 25,468
O+ SAME 2 210,468,008 * 1A 210,468
= 35,780
Al 174,688
(Z)sotessadAasNa 18,000 18,000 0
< 3,600
Al 14,400
307 21201 A 18,000 18,000 0
< 3,600
Al 14,400
10 ALSISXAIEEE2GHEX 18,000 0 18,000
Os0l2ls24ERAESAE
6,000,000& » 3H 18,000
< 3,600
Al 14,400
()X HZOHAX A 2H 130,000 130,000 0
< 26,000
Al 104,000
307 21201 A 130,000 130,000 0
< 26,000
Al 104,000
10 AL SXAIEEE2EHEX 130,000 130,000 0
OXNEZHAXNAEH 24
130,000,000 * 1JH A 130,000
< 26,000
Al 104,000
(E)S4sDHAS T2 E st K| 2 15,250 11,560 3,690
= 4,575
Al 10,675
301 LEPEAZ 15,250 11,560 3,690
= 4,575
Al 10,675
01 MEIBZE 2053 15,250 11,560 3,690
OS=sw HASTHY 2+¥sH| X &
423,611& = 369 15,250
= 4,575
Al 10,675
(D)EMHATHEANLE2S 1,177,045 1,107,875 69,170
< 147,082
Al 1,029,963
307 glz2tol & 1,177,045 1,107,875 69,170
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2N
DY SXNST(MIASN/FHAAHSRE)

el

X ZH
S =

At = X ot

e sxsa

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 147,082
Al 1,029,963
10 MM SAANEEHESIHEX 1,177,045 1,107,875 69,170
OZOHUAZATHE AL 2H(3MA)
1,177,045,000& = 14! 1,177,045
& 147,082
Al 1,029,963
(S)ZOHQITOIAI =R XA 130,000 117,650 12,350
= 26,000
Al 104,000
307 2iz2tol & 130,000 117,650 12,350
= 26,000
Al 104,000
10 MM SAANEEHESIGHEX 130,000 0 130,000
OXOHQUEOJALAXRHE &H
130,000,000& » 1JH A 130,000
= 26,000
Al 104,000
(SIS =S 2R (XA 326,280 108,000 218,280
& 97,884
Al 228,396
307 2iz2to| & 326,280 108,000 218,280
== 97,884
Al 228,396
05 QIZ2tR EF 2 326,280 108,000 218,280
OFMNeEsEX =JF NA(KA)
11,652,857 * 28%Y 326,280
& 97,884
Al 228,396
(S)ZOHQI HFAIE MHIAXH 21,840 13,520 8,320
= 6,552
Al 15,288
307 2Iz2to| & 21,840 13,520 8,320
= 6,552
Al 15,288
11T A EXAIEEX 21,840 13,520 8,320
OBONQIMBAIE ALK ZNAHIAX &
130,000 * 168Y 21,840
o=t 6,552
Al 15,288
(S)HOHAUAHF=AILE 2H (XA 807,640 1,111,977 A 304,337
= 161,528
Al 646,112
307 2Iz2t0| & 807,640 1,111,977 A 304,337
= 161,528
Al 646,112
10 M SXAEEHESIGHEX 807,640 1,111,977 A 304,337
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A AMIEX
M Hojel EXNSH(ASSX/FHAAHSKA)
el Foje 2XEA (el @2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OO AFAE 22 (KA
403,820,000 * 200 2 807,640
< 161,528
Al 646,112
(S)HMHANFAIE0ERNAADNSE 4,500 3,600 900
= 1,350
Al 3,150
307 QI2t0| & 4,500 3,600 900
& 1,350
Al 3,150
11T A EXAIEEX 4,500 3,600 900
ORMWOIHFEAIL O8N AR DS
500,000& * QI A 4,500
= 1,350
Al 3,150
(Z)EOHQIEDI A [ &2d9 283,000 192,635 90, 365
o= 56,600
Al 226,400
307 212t0| & 283,000 192,635 90, 365
o= 56,600
Al 226,400
10 Al SXAIEEE2IHIEX 283,000 192,635 90, 365
OQZOASIHFANE 2
283,000,000& = 10 A 283,000
= 56,600
Al 226,400
(S)HSX XA 370,000 374,345 N4 ,345
o= 74,000
Al 296,000
307 212t0| & 370,000 370,000 0
o= 74,000
Al 296,000
10 Al SXAIEEE2IHIEX 370,000 370,000 0
OnNSADMEASAS
130,000,000& * 1JH A 130,000
= 26,000
Al 104,000
OXFMAELF X RAAY  75,000,000& * 144 75,000
& 15,000
Al 60,000
ONEEHOUSE &S AL
50,000,000& * 1044 50,000
& 10,000
Al 40,000
OXNMEOHAHAAL K& XA AS
65,000,000& * 1JH A 65,000
& 13,000
Al 52,000
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AN ALEI =X
HH: o SXNST(MS=SX/HAAHNEXE)
el Foe sXNsd

[

= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
OXMEOHICI A E ALY
50,000,000& * 1JH 2 50,000
< 10,000
Al 40,000
(S)ZULAE L AR A E 9,752 9,752
< 2,926
Al 6,826
307 gl2tol & 9,752 9,752
< 2,926
Al 6,826
11T ASI S RAEE = 9,752 9,752
OFMUQAANLELYAT dtF XA
65,013& » 1509H 9,752
< 2,926
Al 6,826
(SN2 E e R QIS K2 ALY 50,000 50,000
= 10,000
Al 40,000
307 21201 A 50,000 50,000
< 10,000
Al 40,000
10 AL SXNAIEEE2EHEX 50,000 50,000
OLIEHEHUINS KA ALY
50,000,000& * 1JH A 50,000
< 10,000
Al 40,000
() Al &I Z O QI TH & AF € AH 50,000 50,000
< 10,000
Al 40,000
307 21201 A 50,000 50,000
< 10,000
Al 40,000
10 AL SXNAIEEE2EHEX 50,000 50,000
OAIXIZH0H QI TH & & & ALY
50,000,000& * 1JH A 50,000
< 10,000
Al 40,000
(SIAN2EONQINEX AHE 2 150,000 150,000
= 30,000
Al 120,000
307 21201 A 150,000 150,000
= 30,000
Al 120,000
10 M2 SXNANEHE2IHEX 150,000 150,000
OHOMeIIIEXNJAEH 24
150,000,000& * 1JH A 150,000
< 30,000
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2N
X ZH -
L= B

el

Ab8l = X Bt
ZOHQ ZXNBE(AMSZX/HANSNA)
ool SXNSH

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 120,000
(D)Ze s 2XRI0 2N 20,000 0 20,000
< 6,000
Al 14,000
301 LEHZ 20,000 0 20,000
< 6,000
Al 14,000
01 MI2EZE 6= 20,000 0 20,000
OFOMe HFsx2EI1J 2 X
10,000,000& * 29 20,000
S 6,000
Al 14,000
(Z)EO0QE ot0lIHA 2HHLI| BF 1,550 0 1,550
= 465
Al 1,085
301 EEd = 1,550 0 1,550
< 465
Al 1,085
01 Ml2ZE 6= 1,550 0 1,550
OFHeE ololIHAZHEZD| E5
31,000& = 509H 1,550
= 465
Al 1,085
HAE2A U (AL S X 2H)(JEH/IIE) 141,857 190, 886 249,029
ol 2 oy 65,355 40,898 24,457
ol 2| 65,355 40,898 24,457
101 1Al 65,355 40,898 24,457
03 RIAHAAZZRE > 65,355 40,898 24,457
Oztaz 2elel 65,355
= 2,200,470 » 1H » 128 26,406
—FESI  2,200,470& * 1H * 23] * 75% 3,301
—hE=L(WRX)  40,000& * 1 » 12€ 480
— A2
12,9453 » 150% * 15A12F » 1H » 12& 3,496
—52ZfxE
103,560& * 150% * 1¥ = 116 18,020
— s8It Y 103,560& * 1H » 19¢ 1,968
— = gl 130,000& = 1H = 123 1,560
— WSl 100,000& » 199 = 128 1,200
— I =l 100,000& * 1H » 24 200
— XA RM&HI 53,191,000& * 16.4% 8,724
JlEZl 76,502 149,988 AT3,486
o=l 76,502 149,988 AT73,486
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AN ALEI =X
A HHE2H AU (A= X2 (I1EHIIE

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 18,482 32,028 AN 13,546
01 AP 2t 2l Yl 18,482 32,028 AN 13,546
OSAIEX #¢ 15,000& * 13Y¥ x 12& 2,340
OSEZ20Aaldl 7,000& * 64! x 13H * 12& 6,552
Ogte2 100,000& * 128 1,200
O =7 50,000& = 12& 600
O =44 7,010
— S A =2l 1,000,000& = 1CH 1,000
— T2 %2l 100,000€ * 3CH = 50/100 150
— 2A EY 200,000& = 53] = 104 1,000
—Z2HI(EY) EY
200,000& = 53] = 304 3,000
— Z2lEI(E) EY
200,000& * 53 = 104 1,000
—PC =2l 100,000 * 13CH = 20/100 260
— JlEt==2l bl 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 1398 » 12& 780
202 (4] 53,820 111,780 A57,960
01 2L Y] 53,820 111,780 A57,960
OAIZ 2 X1 SR=X04H| 53,820
— ZtLH O B 20,000& = 139 * 12 » 12& 37,440
— 2204 H| 90,000& * 13Y = 14 16,380
203 PR =&H| 3,000 4,980 A 1,980
04 ENSHLR=AH| 3,000 4,980 A 1,980
ORANSELERF=AH| 250,000& = 12& 3,000
204 &R = A H| 1,200 1,200 0
01 I HRHA Y| 1,200 1,200 0
ORI DL 2AY (AEI ST BE)
100,000 * 1€ = 12& 1,200
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